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Diff0l Answers for No.9844

Ansl = (k=45), , Ans2=(k=6), , Ans3=[ba:638}, : Ans4=[giﬂ
'21_:((72’338)) i 1=[f(a)=50] ]
L 2=[f(b)=54.92, h=0.2, RateOfChange = 24.600 ]

AnsS = 4_(_3 6) I , Ans6=| 3=[f(c)=52.43, h=0.1, RateOfChange = 24.300 ]
B ) 4 =[f(d)=750.2403, h = 0.01, RateOfChange = 24.030 ]
.6; 5 L .5 = [RateOfChange at the point a = 24 ] _
A=[f(r)=2nr] | I d=[f(r)=nr] |
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)’]
Ans7 = 3_[2n(r+h)—2nr} ., Ans8= ; [R(Hh)z_mz}
3= p _ ;
[4=[2n],.5=[2n],.6=[2n]] [4=[2nr],.5=[4n],.6=[16n]]
2]
d=|1(x)= 4 s
{ ﬁ(xwﬂ a
2= f(x+h):T t
Ans9 = I3 e n? 4322 A é”@
4 4
3= M
h U
T
(B 2]
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Diff0l Answers for No.9872
a=3 a=6
Ansl =(k=5), , Ans2=(k=3), , AnsS—[bzlg}, , Ans4—[b:3}
'21_:((;’226)) | 1 =[f(a)=53] ]
‘ ‘3 i 2=[f(b)=57.92, h = 0.2, RateOfChange = 24.600
AnsS = 4_(_5 5) b , Ans6=| 3=[f(c)=5543,h=0.1, RateOfChange = 24.300 ]
BT 4 =[f(d)=53.2403, h = 0.01, RateOfChange = 24.030 ]
.6:2 L .5 = [ RateOfChange at the point a = 24 ] J
A=[f(r)=2nr] ] I d=[f(r)=nr] |
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)’]
Ans7 = 3_{2n(r+h)—2nr} ., Ans8= n(r+h) —nr
- p _ p
L[4=[2n],.5=[2n],.6=[2n]] [4=[2nr],.5=[16n],.6=[12n]]]
” =B
d=|1(x)= 4 73
3 (x+h)? a
2= f(x+h):T t
h
Ans9 = «/g(x+h)2 «/Exz ) | @
4 4
3= M
h U
3x 343 L T
[‘4:{/\/77}"5:{7/\/7}"6:[4/\/3]}
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Diff0l Answers for No.9873

Ansl = (k=-5), , Ans2=(k=4), |, Ans3=[ba:325}, , Ans4=[zzﬂ
'21_:((53’157)) i 1=[f(a)=47] ]
T 2=[f(b)=53.20, h = 0.2, RateOfChange = 31.000 ]

AnsS = 4; ; 10 , Ans6=| .3 =[1f(c)=50.05,h=0.1, RateOfChange = 30.500 ]
' ‘5(_’ 5 ) 4 =[f(d)=47.3005, h =0.01, RateOfChange = 30.050 ]
.6;4 L .5 = [ RateOfChange at the point a = 30] _
A=[f(r)=2nr] | I d=[f(r)=nr] |
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)’]
Ans7 = 3_[2n(r+h)—2nr} ., Ans8= [R(Hh)z_mz}
_ p _ ;
[4=[2n],.5=[2n],.6=[2n]] [4=[2nr],.5=[127],.6=[6n]]
O fe-B2]
d=|1(x)= 4 s
{ ﬁ(xwﬂ a
2=| oty =" ;
Ans9 = {«/g(x+h)2 |3 2 A é”@
4 4
3= M
h U
{222 PR
i 2 2 2
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Diff0l Answers for No.9884
3 a=>5
Ansl = (k=-6), , Ans2=(k=3), , Ans3 = [b 3} , Ans4—[b:7}
.21_=((62,480)) r J=[f(a)=19] _
' _3 —,8 =[f(b)=21.52, h=0.2, RateOfChange = 12.600 ]
AnsS = PEEREN: , Ans6=| .3=[1f(c)=20.23, h=0.1, RateOfChange = 12.300]
S5_s A4=[1f(d)=19.1203, h=0.01, RateOfChange = 12.030 ]
6:4 L .5 =[RateOfChange at the point a = 12 ] J
I=[f(r) =2nr] I 1=[f(r)=nr]
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)’]
Ans7 = 3_{2n(r+h)—2nr} , , Ans8 = n(r+h)2—nr2
= h 3= P
L[4=[2n],.5=[2n],.6=[2n]] [4=[2nr],.5=[10n],.6=[12n]]]

2
2=| fx +h)—[(x+h)}

Ans9 = {[(Hh) REES .
4 4

5] 25 ]

),0:9:9.0:9:9.0,9:9.0.9:9.9.9:9.:0.0:9.:9.0:9:0,0:9:9.0:9:9.0,9:9.0.9:9.0.9:9.:9.9:9.0,0:9.:9,0:9.:9,0:9:9.0:9:9.0.0:9.0.9:9.0.9:9:0.0:9.:0,0:9.:9,0:9:9.0:9:9.0,9:9.9.0:9.:0,0:9.:9.0:9:9.0:9:9.0:9:9.0:9:0.0:¢

NS EX®>~=23 X
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Diff0l Answers for No.9885

a = -49 a=06
Ansl = (k=17), , Ans2=(k=06), , AnsS’:[bzl }, , Ans4=[b:3}
'21_:((53’157)) i 1=[f(a)=32] ]
' ‘3 i 2=[f(b)=37.88, h =0.2, RateOfChange = 29.400 ]
AnsS = 4;(; 10) | , Ans6=| 3=[1f(c)=34.87, h=0.1, RateOfChange = 28.700 ]
R 4=[f(d)=32.2807, h =0.01, RateOfChange = 28.070 ]
.6;4 L .5 = [RateOfChange at the point a = 28 ] _
A=[f(r)=2nr] | I d=[f(r)=nr] |
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)’]
Ans7 = 3_[2n(r+h)—2nr} ., Ans8= [R(Hh)z_mz}
. p _ p
[4=[2n],.5=[2n],.6=[2n]] [4=[2nr],.5=[14n],.6=[6n]]
w2
d=|1(x)= 4 73
{ ﬁ(xwﬂ a
2= f(x+h):T t
Ans9 = {«/g(x+h)2 |3 2 - é”@
4 4
3= M
h U
T
R e ] I
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Diff0l Answers for No.9895

a=-4 a=2
Ansl = (k=-10), , Ans2=(k=3), , Ans3=[b:_7}, , Ans4:[b:5}
'21_:(63’256) i 1=[f(a)=39] ]
' ‘3(_’7 ) 2=[f(b)=45.72, h = 0.2, RateOfChange = 33.600]
AnsS = 4; ; 10 , Ans6=| 3=[f(c)=42.28,h=0.1, RateOfChange = 32.800]
' ‘5(_’ 5 ) 4 =[1f(d)=39.3208, h = 0.01, RateOfChange = 32.080 ]
.6;4 L .5 = [RateOfChange at the point a = 32 ] _
d=[f(r)=271r] ] I I=[f(r)=7r] |
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)’]
Ans7 = 3_[2n(r+h)—2nr} .. Ans8= ; [n(r+h)2—nr2}
3= . _ ;
L[4=[2n],.5=[2n],.6=[2n]]] [4=[2nr],.5=[16n],.6=[8n]].
2]
d=|1(x)= 4 s
[ ﬁ(“h)z} a
2= f(x+h):T t
Ans9 = I3 e n? 4322 , é”@
4 4
3= M
h U
T
)] T
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Diff0l Answers for No.9899

a:l a:8
Ansl=(k=3), , Ans2=(k=4), | A”“—[b:sJ’ ’ AnM_[sz
.21_=((;,248)) i 1 =[f(a)=131] |
: —3 = 2=[f(b)=144.12, h=0.2, RateOfChange = 65.600 ]

Ans5 = 4=(5.7) ! , Ans6=| .3=[f(c)=137.48, h=0.1, RateOfChange = 64.800 ]

soa 4 =[f(d)=131.6408, h = 0.01, RateOfChange = 64.080]
'6 ; ) L .5 = [ RateOfChange at the point a = 64 ] J
A=[f(r)=2nr] ] I d=[f(r)=nr] |
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)’]
Ans7 = 3_{2n(r+h)—2nr} ., Ans8= [R(Hh)z_mz}
- ; _ ;
L[4=[2n],.5=[2n],.6=[2n]]] [4=[2nr],.5=[4n],.6=[6n]].
. {f _ﬁxz} i
d=|f(x)= 4 s
{ ﬁ(xwﬂ a
2= f(x+h):T t
Ans9 = 3 ey 434 - é’@
4 4
3= M
h U
T
[.4={@},.5=[4«/§],.6:[3«/§]} .
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Diff0l Answers for No.9920
-4 a=06
Ansl =(k=9), , Ans2=(k=2), , Ans3 = [b 2} , Ans4—[b:2}
'21_:((;’379)) | 1 =[f(a)=11] ]
' _3 —,8 =[f(b)=14.36, h=0.2, RateOfChange = 16.800 ]
AnsS = 4;(; 12) , Ans6=| 3=[f(c)=12.64, h=0.1, RateOfChange = 16.400 ]
' _5 _’5 A4=[f(d)=11.1604, h=0.01, RateOfChange = 16.040 ]
.6:4 L .5 =[RateOfChange at the point a = 16 ] J
d=[f(r)=277] ] | A =[f(r)=nr] |
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)’]
Ans7 = 3_{2n(r+h)—2nr} , , Ans8= R (r+h)—nr
= h 3= P
L[4=[2n],.5=[2n],.6=[2n]] [4=[2nr],.5=[127],.6=[107]]]
_ [f ﬁxz} -
= (x)__ 1 _A4_
f(x+h)2 a
2=|f(x+h)y=—"""" p
h
Ans9 = «/7(x+h) «/7)6 , | @
_ M
U
x LT ]

[Page = 0008] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX XXX XXX XXX XXX XXX XXX XXX X XXX KXXX XXX XXXXXXXXXXXM6/1-6800505-00009XX
Diff0l Answers for No.10000

Ansl =(k=8), , Ans2=(k=4), | Anssz[;‘:_ﬂ, : Ans4=[22ﬂ
'21_:((61’50)) i 1=[fla)=4] ]
’ _3 _’7 =[f(b)=6.52, h=0.2, RateOfChange = 12.600 ]
Ans5 = 4_(_2 8) , Ans6 = 3 [f(c)=5.23, h=0.1, RateOfChange = 12.300 ]
BT 4 =[f(d)=4.1203, h =0.01, RateOfChange = 12.030]
'6 5 L .5 =[RateOfChange at the point a = 12 ] J
d=[f(r)=271r] ] I I=[f(r)=7r] |
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)’]
Ans7 = 3_[2n(r+h)—2nr} ., Ans8= ; [R(Hh)z_mz}
3= p 3= ;
L[4=[2n],.5=[2n],.6=[2n]]] [4=[2nr],.5=[8n],.6=[14x=]]]
- {f _ﬁxz} .
= (x)__ 1 _A4_
a
.2=[f( +h)—[(x+h) } t
Ans9 = {[(Hh) _fx - é”@
4 4
3= M
h U
T
][]
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Diff0l Answers for No.10017

a=3 a=3
Ansl = (k=4), , Ans2=(k=5), , AnSS—[b:_?)S}, , AnM_[b:J
'2]_:((61’472)) I 1=[fla)=135] ]
‘ ‘3 _’7 2=[f(b)=148.12, h = 0.2, RateOfChange = 65.600 ]
Ans5 = 4;(; 10) ! , Ans6=| .3=[f(c)=141.48, h=0.1, RateOfChange = 64.800 ]
' _5 7, 4=[f(d)=135.6408, h = 0.01, RateOfChange = 64.080]
'6:2 L .5 = [ RateOfChange at the point a = 64 ] J
d=[f(r)=2mr] ] | d=[f(r)=nr] |
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)’]
Ans7 = 3_{2n(r+h)—2nr} ., Ans8= n(r+h) —nr
3= h 3= h
L[4=[2n],.5=[2n],.6=[2n]] [4=[2nr],.5=[14n],.6=[10n]]]
]
d=|1(x)= 4 s
3 (x+h)? a
2= f(x+h):T t
Ans9 = «/g(x+h)2 «/Exz ) ) é
4 4
3= M
h U
3 54/3 LT
[.4:[—Cx},.5:[—[},.6:[«/3]}
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Diff0l Answers for No.10025

a:4 a:4
Ansl =(k=6), , Ans2=(k=4), AnSS—[b:J, ) AnM_[b:J
.21_=((95,491)) i 1=[f(a)=103] ]
: —3 —’g 2=[f(b)=112.84, h = 0.2, RateOfChange = 49.200 ]

Ans5 = 4=(6,14)F , Ans6=| .3=[f(c)=107.86,h=0.1, RateOfChange = 48.600 ]

s 4 =[f(d)=103.4806, h = 0.01, RateOfChange = 48.060]
'6;4 L .5 =[RateOfChange at the point a = 48 ] J
A=[f(r)=2nr] ] I d=[f(r)=nr] |
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)’]
Ans7 = 3_{2n(r+h)—2nr} ., Ans8= [R(Hh)z_mz}
- ; _ ;
L[.4=[2n],.5=[2n],.6=[2n]]] [4=[2nr],.5=[14n],.6=[16xn]]]
_ {f _ﬁxz} -
d=|f(x)= 1 o7a
{ ﬁ(xwﬂ a
2= f(x+h):T t
Ans9 = 3 ey 434 - é’@
4 4
3= M
h U
T
[.4={@},.5=[2«/§],.6:[3«/§]} .
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Diff0l Answers for No.10057

a="7 a=238
Ansl =(k=28), , Ans2=(k=2), , Ans.?:[b:?’g}, , Ans4=[b:5}
2]; ((94’349)) I =1fla)=9]
3 :’7 =[f(b)=12.36, h =0.2, RateOfChange = 16.800 |
Ans5 = 4=(5.7) , Ans6 = 3=[f(c)=10.64,h—O.l,RateOfChangez16.400]
5 :}’ =[f(d)=9.1604, h = 0.01, RateOfChange = 16.040 ]
5-2 L .5 =[RateOfChange at the point a = 16 ] J
A=[f(r)=2nr] ] A =[f(r)=n"]
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)’]
Ans7 = 3:{2n(r+h)—2nr} ., Ans8= ; [R(Hh)z_mz}
h e h
[4=[2n],.5=[2n],.6=[2n]]] [4=[2nr],.5=[6n],.6=[4nr]]]

:{f(x):ﬁxz} |

4 [ M
.2:[& +h)—[(x+h)} ’

Ans9 = 3 ey 434 - é”@
L, 4 4 by

h U

LT

[} 2]
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Diff0l Answers for No.10061
a=1 a=38
Ansl = (k=3), , Ans2=(k=4), , AnSS—[b:J, , Ans4—[b:3}
éig}é; | 1 =[f(a)=33] ]
g =[f(bh)=238.88, h = 0.2, RateOfChange = 29.400 ]
AnsS = 4=(6.15)] , Ans6=| .3=[f(c)=35.87, h=0.1, RateOfChange = 28.700 ]
s 4=[f(d)=33.2807, h = 0.01, RateOfChange = 28.070 ]
6:4 L .5 = [ RateOfChange at the point a =28 | J
d=[f(r)=2mr] ] | d=[f(r)=nr] |
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)’]
Ans7 = 3_{2n(r+h)—2nr} ., Ans8= n(r+h) —nr
3= P 3= ,
L[4=[2n],.5=[2n],.6=[2n]] [4=[2nr],.5=[127],.6=[16n]]]
_ {f ﬁxz} i
= (x)__ 1 _Al_
f(x+h)2 a
2=|f(x+h)=——""""— )
h
Ans9 = «/7(x+h) «/7)6 , | @
_ M
U
x LT ]

[Page = 0013] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XKXXX XXX XXXXXXXXM6/1-6800505-00014XX
Diff0l Answers for No.10071

a=153 a=17
Ansl =(k=17), , Ans2=(k=06), , AnsS—[b:_S}, , Ans4—[b:5}
‘21_:((83’483)) i 1 =[fla)=135] ]
’ _3 _’7 =[f(b)=148.12, h=0.2, RateOfChange = 65.600 ]
Ans5 = 4;(; 1) , Ans6 = 3 [f(c)=141.48, h=0.1, RateOfChange = 64.800 |
7 =[f(d)=135.6408, h =0.01, RateOfChange = 64.080 ]

; i ; L .5 = [ RateOfChange at the point a = 64 ] J
A=[f(r)=2nr] ] I d=[f(r)=nr] |
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)]
Ans7 = 3_{2n(r+h)—2nr} ., Ans8= ; [R(Hh)z_mz}
3= p 3= p
L[.4=[2n],.5=[2n],.6=[2n]]] [4=[2nr],.5=[127],.6=[16x]]]
i {f _ﬁxz} .
=| f)="", ]
2
2= [f( +h)—[(x+h)} ’
Ans9 = f(xm) fx : é”@
_ M
U
T
M’C w25 L
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Diff0l Answers for No.10088

Ansl =(k=6), , Ans2=(k=2), , Ans3= [b__ﬂ : Ans4=[22ﬂ
'21_:((;’237)) i 1=[f(a)=87] ]
T 2=[f(b)=95.20, h = 0.2, RateOfChange = 41.000]

AnsS = 4_(_5 6) I , Ans6=| 3=[1f(c)=91.05h=0.1, RateOfChange = 40.500 ]
BT ) 4 =[f(d)=287.4005, h = 0.01, RateOfChange = 40.050 ]
.6; 5 L .5 = [ RateOfChange at the point a = 40 ] _
A=[f(r)=2nr] | I d=[f(r)=nr] |
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)’]
Ans7 = 3_[2n(r+h)—2nr} ., Ans8= ; [R(Hh)z_mz}
3= p 3= ;
[4=[2n],.5=[2n],.6=[2n]] [4=[2nr],.5=[14n],.6=[6n]]
- {f _ﬁxz} .
= (x)__ 1 _A4_
2 a
2= {f( +h)—[(x+h)} t
Ans9 = f(xm) fx : é”@
_ M
U
T
Mx oo [2E] T
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Diff0l Answers for No.10385

Ansl = (k=-5), , Ans2=(k=5), AnsS’:[Z:iJ, , Ans4=[22ﬂ
'21_:((7‘"267)) i 1=[fla)=44] ]
' ‘3 _’7 2=[f(b)=48.92, h=0.2, RateOfChange = 24.600 ]
AnsS = 4;(; 1) , Ans6=| 3=[f(c)=46.43, h=0.1, RateOfChange = 24.300 ]
T 4 =[1f(d)=44.2403, h = 0.01, RateOfChange = 24.030 ]
.6;4 L .5 = [ RateOfChange at the point a = 24 ] ]
A=[f(r)=2nr] | I d=[f(r)=nr] |
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)’]
Ans7 = 3_[2n(r+h)—2nr} ., Ans8= ; [R(Hh)z_mz}
3= p _ ;
[ 4=[2n],.5=[2n],.6=[2n]]] [4=[2nr],.5=[14n],.6=[8n]]]
R rES
d=|1(x)= 4 s
{ ﬁ(xwﬂ a
2= f(x+h):T t
Ans9 = I3 e n? 4322 A é”@
4 4
3= M
h U
T
(B 2]
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Diff0l Answers for No.10387

X

[Page = 0017]

Ansl =(k=5), , Ans2=(k=5), | Ans.?z[ba:lsz}, , Ans4=[zzﬂ
'21_:((51’360)) i 1=[fla)=41] ]
' ‘3 i 2=[f(b)=45.92, h=0.2, RateOfChange = 24.600 ]
AnsS = 4_(_ 9) , Ans6=| .3=[f(c)=43.43, h=0.1, RateOfChange = 24.300 ]
B 4 =[1f(d)=41.2403, h = 0.01, RateOfChange = 24.030 ]
.6; ) L .5 = [ RateOfChange at the point a = 24 ] ]
A=[f(r)=2nr] | I d=[f(r)=nr] |
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)’]
Ans7 = 3_[2n(r+h)—2nr} ., Ans8= [R(Hh)z_mz}
. p _ ;
[ 4=[2n],.5=[2n],.6=[2n]]] [4=[2nr],.5=[10%],.6=[6n]]]
R rES
d=|1(x)= 4 s
{ ﬁ(xwﬂ a
2= f(x+h):T t
Ans9 = I3 e n? 4322 , é”@
4 4
3= M
h U
T
(B 2]

),0:9:9.0:9:9.0,9:9.0.9:9.9.9:9.:0.0:9.:9.0:9:0,0:9:9.0:9:9.0,9:9.0.9:9.0.9:9.:9.9:9.0,0:9.:9,0:9.:9,0:9:9.0:9:9.0.0:9.0.9:9.0.9:9:0.0:9.:0,0:9.:9,0:9:9.0:9:9.0,9:9.9.0:9.:0,0:9.:9.0:9:9.0:9:9.0:9:9.0:9:0.0:¢
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Diff0l Answers for No.10914
a=3 a=28
Ansl =(k=3), , Ans2=(k=2), , AnSS—[b:J, , Ans4—[b:2}
' _3 —,6 2=[f(b)=68.44, h=0.2, RateOfChange = 37.200 ]
AnsS = 4;(; 1) , Ans6=| 3=[f(c)=064.66, h=0.1, RateOfChange = 36.600 ]
' _5 _’3 4=[1f(d)=61.3606, h=0.01, RateOfChange = 36.060 ]
.6:2 L .5 = [RateOfChange at the point a = 36 ] _
d=[f(r)=2mr] | d=[f(r)=nr] |
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)’]
Ans7 = _|:27C(7"+h)—27'[l’} , , AnsS = 75(7’4‘]’1)2—7[}"2
[4=[2n],.5=[2n],.6=[2n]]] L[ 4=[2nr],.5=[8n],.6=[6n]]]
| ] [f ﬁxz}
d=|1(x)= 4 N

2

Ans9 = 3 ey 434
4 4

3=

h

[t eni]

),0:9:9.0:9:9.0,9:9.0.9:9.9.9:9.:0.0:9.:9.0:9:0,0:9:9.0:9:9.0,9:9.0.9:9.0.9:9.:9.9:9.0,0:9.:9,0:9.:9,0:9:9.0:9:9.0.0:9.0.9:9.0.9:9:0.0:9.:0,0:9.:9,0:9:9.0:9:9.0,9:9.9.0:9.:0,0:9.:9.0:9:9.0:9:9.0:9:9.0:9:0.0:¢
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Diff0l Answers for No.10945

a=3 a=2
Ansl =(k=4), , Ans2=(k=4), , AnsS—[b:?’J, , Ans4—[b:7}
éfi:;% i 1=[fla)=69] ]
‘ ‘3 e 2=[f(b)="78.92, h=0.2, RateOfChange = 49.600
AnsS = 4;(; 16) [ , Ans6=| 3=[f(c)=73.88, h=0.1, RateOfChange = 48.800 ]
' _5 s 4=[f(d)=69.4808, h = 0.01, RateOfChange = 48.080 ]
.6:4 L .5 =[RateOfChange at the point a = 48 ] J
d=[f(r)=277r] ] I A =[f(r)=nr] |
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)’]
Ans7 = 3_[2n(r+h)—2nr} , , Ans8= R (r+h)—nr
J = P 3= .
[4=[2n],.5=[2n],.6=[2n]] [4=[2nr],.5=[14n],.6=[6n]]
R rES
d=|1(x)= 4 s
3 (x+h)? a
2= f(x+h):T t
Ans9 = «/g(x+h)2 «/Exz ) ) é
4 4
3= M
h U
3 34/3 LT
B [ i
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Diff0l Answers for No.10954

a=2 a=>5
Ansl =(k=19), , Ans2=(k=06), , Ans.?:[bzz}, , AnM:[b:J
'21_:(61’472) i I=[f(a)=10] T
< 3(_’7 ) 2=[f(b)=12.52, h = 0.2, RateOfChange = 12.600]
AnsS = 4; ; 10 , Ans6=| 3=[f(c)=11.23, h=0.1, RateOfChange = 12.300]
' ‘5(_’3 ) 4=[f(d)=10.1203, h = 0.01, RateOfChange = 12.030 ]
.6;2 L .5 = [ RateOfChange at the point a = 12] i
A=[f(r)=2nr] | I d=[f(r)=nr] |
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)’]
Ans7 = 3_[2n(r+h)—2nr} , , Ans8 = 3 {n(r+h)2—nr2}
3= p _ ;
L[4=[2n],.5=[2n],.6=[2n]]] [4=[2nr],.5=[10n],.6=[4n]]]
BT
A= 1f(x)= 4 "]
[ ﬁ(“h)z} a
2= f(x+h):T t
Ans9 = I3 e n? 4322 : é’@
4 4
3= M
h U
T
[.4={@},.5=[2«/§],.6:[4«/§]} .
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Diff0l Answers for No.10966

Ansl = (k=23), , Ans2=(k=5), Ans3=[ab::327}, : Ans4=[22ﬂ
'21_:((83’327)) i I =[f(a)=18] T
- 3 =[f(b)=22.20, h = 0.2, RateOfChange = 21.000 ]
AnsS = 4_(_ 5) | , Ans6=| .3=[1f(c)=20.05h=0.1, RateOfChange = 20.500 ]
R ) 4 =[f(d)=18.2005, h =0.01, RateOfChange = 20.050 ]
.6;2 L .5 = [ RateOfChange at the point a =20 ] i
A=[f(r)=2nr] | I d=[f(r)=nr] |
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)’]
Ans7 = 3_[275(”"‘}1)—27”’} , , Ans8= 3 [ﬁ(l’+h)2—ﬂ:r2}
. h . h
[4=[2n],.5=[2n],.6=[2n]] [4=[2nr],.5=[16n],.6=[6n]]
_ [ .
=| ) =" F ]
2 a
2= {f( +h)—[(x+h)} t
Ans9 = f(xm) fx : é”@
_ M
U
T
M’C woe2E] T
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Diff0l Answers for No.11154

a=38 a=2
Ansl =(k=4), , Ans2=(k=4), , Ans.?:[b:?)}, , Ans4=[b:5}
'Zlf((sz’f9)) i d=[f(a)=41] ]
' ‘3 s 2=[f(b)=47.20, h = 0.2, RateOfChange = 31.000]
AnsS = 4_(_3 7y b , Ans6=| .3=[1f(c)=44.05, h=0.1, RateOfChange = 30.500 ]
B ) 4 =[f(d)=41.3005, h =0.01, RateOfChange = 30.050 ]
.6; 5 L .5 = [ RateOfChange at the point a = 30] _
A=[f(r)=2nr] ] I d=[f(r)=nr] |
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)’]
Ans7 = 3_{2n(r+h)—2nr} ., Ans8= ; [R(Hh)z_mz}
3= p _ ;
L[4=[2n],.5=[2n],.6=[2n]] [4=[2nr],.5=[8n],.6=[4n]]]
2]
d=|1(x)= 4 73
{ ﬁ(xwﬂ a
2= f(x+h):T t
Ans9 = I3 e n? 4322 : é’@
4 4
3= M
h U
T
[.4={@},.5=[3«/§],.6:[2«/§]} .
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Diff0l Answers for No.11191

Ansl = (k=-5), , Ans2=(k=3), |, Ans3=[2jﬂ, , Ans4=[zzﬂ
'21_:((61’483)) i 1=[f(a)=33] ]
' ‘3 _, 2=[f(b)=37.96, h = 0.2, RateOfChange = 24.800]
AnsS = 4; ; I , Ans6=| 3=[f(c)=35.44, h=0.1, RateOfChange = 24.400 ]
' ‘5(_’3 ) 4 =[f(d)=33.2404, h = 0.01, RateOfChange = 24.040 ]
.6; ) L .5 = [ RateOfChange at the point a = 24 ] ]
A=[f(r)=2nr] ] I d=[f(r)=nr] |
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)’]
Ans7 = 3_{2n(r+h)—2nr} ., Ans8= [R(Hh)z_mz}
3= p 3= ;
L[4=[2n],.5=[2n],.6=[2n]]] [4=[2nr],.5=[14n],.6=[167]]]
_ [ -
d=| ) =" e
{ ﬁ(xwﬂ a
2= f(x+h):T t
Ans9 = I3 e n? 4322 : é’@
4 4 Y
3= h U
T
[.4={@},.5=[4«/§],.6:[3«/§]} .
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Diff0l Answers for No.11309

a=-16 a=3
Ansl = (k=28), , Ans2=(k=5), , AI/lS3—|: b2 }, , AnM_[b:J
’ _3 —’6 2=[f(b)=17.52, h=0.2, RateOfChange = 12.600 ]
Ans5 = 4;(; 1) , Ans6=| .3=[f(c)=6.23,h=0.1, RateOfChange = 12.300 ]
’ _5 _’3 4=[1(d)=5.1203, h =0.01, RateOfChange = 12.030 ]
'6:2 L .5 =[RateOfChange at the point a =12 ] J
A=[f(r)=2nr] ] I d=[f(r)=nr] |
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)’]
Ans7 = 3_{2n(r+h)—2nr} , , Ans8 = n(r+h)2—nr2
= . _ ;
L[.4=[2n],.5=[2n],.6=[2n]]] [4=[2nr],.5=[12x],.6=[167]].
e8]
d=|1(x)= 4 N

2
Ans9 = 3 ey 434
4 4

3=

h

[t eni]
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Diff0l Answers for No.12483

Ansl =(k=17), , Ans2=(k=4), | Ans3=[Ziﬂ, : Ans4=[22ﬂ
'21_:((51’248)) i 1=[f(a)=56] ]
T 2=[f(b)=60.92, h =0.2, RateOfChange = 24.600 ]

AnsS = 4_(_ 7y b , Ans6=| 3=[f(c)=58.43, h=0.1, RateOfChange = 24.300 ]
B ) 4 =[f(d)=756.2403, h =0.01, RateOfChange = 24.030 ]
.6;2 L .5 = [RateOfChange at the point a = 24 ] _
A=[f(r)=2nr] | I d=[f(r)=nr] |
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)’]
Ans7 = 3_[2n(r+h)—2nr} ., Ans8= [R(Hh)z_mz}
. p _ ;
[4=[2n],.5=[2n],.6=[2n]] [4=[2nr],.5=[8n],.6=[14n]].
i} e i
d=| ) =" o
{ ﬁ(xwﬂ a
2= f(x+h):T t
Ans9 = I3 e n? 4322 A é”@
4 4 v
3= h U
T
AR ]
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Diff0l Answers for No.12557

a="7 a=>5
Ansl =(k=19), , Ans2=(k=2), , Ans.?:[bzg}, , Ans4=[b:7}
'21_:((52’390)) i 1=[f(a)=39] ]
' ‘3 , 2=[f(b)=45.72, h = 0.2, RateOfChange = 33.600]
AnsS = 4; ; 14y , Ans6=| 3=[f(c)=42.28,h=0.1, RateOfChange = 32.800]
' ‘5(_’ 5 ) 4=[f(d)=39.3208, h = 0.01, RateOfChange = 32.080 ]
.6;4 L .5 = [RateOfChange at the point a = 32 ] _
A=[f(r)=2nr] | I d=[f(r)=nr] |
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)’]
Ans7 = 3_[2n(r+h)—2nr} ., Ans8= [R(Hh)z_mz}
. p _ p
[4=[2n],.5=[2n],.6=[2n]] [4=[2nr],.5=[4n],.6=[16n]]
B
d=|1(x)= 4 73
{ ﬁ(xwﬂ a
2= fra )y =" p
Ans9 = I3 (xeh? 435 : é’@
4 4
3= M
h U
T
[.4={@},.5=[3«/§],.6:[2«/§]} .
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Diff0l Answers for No.12637
a=2 a=3
Ansl = (k=16), , Ans2=(k=06), , AnSS—[b:_?)O}, , AnM_[b:J
éig;% | 1 =[f(a)=26] ]
R = [f(h) = 30.20, h = 0.2, RateOfChange = 21.000]
AnsS = 4;(; 15) , Ans6=| 3=[f(c)=28.05,h=0.1, RateOfChange = 20.500 ]
' _5 _’5 4 =[1(d)=26.2005, h = 0.01, RateOfChange = 20.050 ]
.6:4 L .5 =[RateOfChange at the point a =20 ] J
d=[f(r)=2mr] ] | d=[f(r)=nr] |
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)’]
Ans7 = 3_{2n(r+h)—2nr} ., Ans8= n(r+h) —nr
= i 3= h
L[4=[2n],.5=[2n],.6=[2n]] [4=[2nr],.5=[10n],.6=[14n]]]
_ {f ﬁxz} -
= (x)__ 1 _A4_
f(x+h)2 a
2=|f(x+h)y=—"""" p
h
Ans9 = «/7(x+h) «/7)6 , | @
_ M
U
x LT ]
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Diff0l Answers for No.12689

Ansl =(k=2), , Ans2=(k=6), | Ans.?z[c;::_ﬂ, : Ans4=[22ﬂ
'21_:((52’278)) i 1=[f(a)=35] ]
L 2=[f(b)=41.72, h =0.2, RateOfChange = 33.600 ]

AnsS = 4;(; 12) , Ans6=| .3=[f(c)=38.28, h=0.1, RateOfChange = 32.800]
T 4=[f(d)=353208, h =0.01, RateOfChange = 32.080 ]
.6;4 L .5 = [RateOfChange at the point a = 32 ] _
A=[f(r)=2nr] ] I d=[f(r)=nr] |
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)’]
Ans7 = 3_{2n(r+h)—2nr} ., Ans8= [R(Hh)z_mz}
- ; _ ;
L[.4=[2n],.5=[2n],.6=[2n]]] [4=[2nr],.5=[8n],.6=[4n]]]
_ e i
d=| ) =" ]
{ ﬁ(xwﬂ a
2= f(x+h):T t
Ans9 = {«/g(x+h)2 |3 2 - é”@
4 4 Y
3= h U
T
AR eem]]
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Diff0l Answers for No.13349

Ansl =(k=3), , Ans2=(k=5), | Anssz[;‘:ﬂ, : Ans4=[giﬂ
'21_:((73’259)) i 1=[f(a)=69] ]
Tl 2=[f(b)=77.68, h =0.2, RateOfChange = 43.400]

AnsS = 4_(_4 2) | , Ans6=| 3=[f(c)=73.27, h=0.1, RateOfChange = 42.700 ]
R ) 4 =[f(d)=69.4207, h = 0.01, RateOfChange = 42.070 ]
.6; 5 L .5 = [RateOfChange at the point a = 42 ] _
d=[f(r)=271r] ] I I=[f(r)=7r] |
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)’]
Ans7 = 3_[2n(r+h)—2nr} .. Ans8= ; [n(r+h)2—nr2}
3= . 3= ;
[4=[2n],.5=[2n],.6=[2n]] [4=[2nr],.5=[16n],.6=[4n]]
- {f _ﬁxz} .
= (x)__ 1 _A4_
2 a
2= [f( +h)—[(x+h)} .
Ans9 = f(xm) fx : é”@
_ M
U
T
Mx owbsso 5] T
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Diff0l Answers for No.13519

Ansl =(k=2), , Ans2=(k=5), Ans.?z[g:éﬂ, : Ans4=[zzﬂ
'21_:((95’480)) i I =[f(a)=47] ]
AN 2=[f(b)=53.20, h = 0.2, RateOfChange = 31.000 ]

AnsS = 4; g 13 , Ans6=| .3 =[1f(c)=50.05,h=0.1, RateOfChange = 30.500 ]
' ‘5(_’ 5 ) 4=[f(d)=47.3005, h = 0.01, RateOfChange = 30.050]
.6;4 L .5 = [ RateOfChange at the point a = 30] i
A=[f(r)=2nr] ] I d=[f(r)=nr] |
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)’]
Ans7 = 3_{2n(r+h)—2nr} , , Ans8 = {n(r+h)2—nr2}
_ p _ p
[4=[2n],.5=[2n],.6=[2n]]] [4=[2nr],.5=[10%],.6=[16n]].
i e -
1=|fx)=" T
{ ﬁ(xwﬂ a
2= f(x+h):T t
Ans9 = I3 e n? 4322 : é’@
4 4 Y,
3= p U
T
[.4={@},.5=[4«/§],.6:[3«/§]} T
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Diff0l Answers for No.14276

Ansl = (k=25), , Ans2=(k=2), AnsS’:[Z:iJ, : Ans4=[zzﬂ
'21_:(51’248) i d=[fa)=17] ]
' ‘3(_’ § ) 2=[f(h)=9.52, h = 0.2, RateOfChange = 12.600 ]
Ans5 = 4__2 7 | , Ans6=| .3=[f(c)=8.23,h=0.1, RateOfChange = 12.300 ]
' ‘5(_3 ) 4=[f(d)=7.1203, h = 0.01, RateOfChange = 12.030]
'6 ; 5 L .5 = [RateOfChange at the point a = 12 ] i
A=[f(r)=2nr] ] I d=[f(r)=nr] |
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)’]
Ans7 = 3_{2n(r+h)—2nr} ., Ans8= [R(Hh)z_mz}
- ; _ ;
L[.4=[2n],.5=[2n],.6=[2n]]] [4=[2nr],.5=[167],.6=[12n]]]
B
d=|1(x)= 4 s
[ ﬁ(“h)z} a
2= f(x+h):T t
Ans9 = I3 e n? 4322 A é”@
4 4
3= M
h U
T
S ]| T
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Diff0l Answers for No.14380

a=-38 a="6
Ansl = (k=17), , Ans2=(k=2), , AI/lS3—|: bo1 }, , Ans4—[b:2}
‘ ‘3 g =[f(b)=54.92, h =0.2, RateOfChange = 24.600
AnsS = 4;(; 13) ] , Ans6=| 3=[f(c)=52.43, h=0.1, RateOfChange = 24.300 ]
' _5 s 4 =[f(d)=150.2403, h = 0.01, RateOfChange = 24.030 ]
.6:4 L .5 = [ RateOfChange at the point a = 24 ] J
d=[f(r)=277r] ] I A =[f(r)=nr] |
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)’]
Ans7 = 3_[2n(r+h)—2nr} , , Ans8= R (r+h)—nr
3= ’ 3= ,
L[4=[2=n],.5=[2n],.6=[2n]]] [4=[2nr],.5=[8n],.6=[127]].
- _[f _ﬁxz} .
=| f) =", e
+h)
2= [f( +h)—[(x )}

Ans9 = {[(Hh) fx
x

|5} s 22|
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Diff0l Answers for No.14393

Ansl=(k=8), , Ans2=(k=4), Ans3=[22ﬂ, , Ans4=[22ﬂ
'21_:(83’472) i I =[f(a)=24] ]
<= 3(_’7 ) 2=[f(b)=28.20, h = 0.2, RateOfChange = 21.000 ]

AnsS = 4; ; 10 , Ans6=| .3=[1f(c)=26.05h=0.1, RateOfChange = 20.500 ]
i 5(_’ ; ) 4=[f(d)=24.2005, h = 0.01, RateOfChange = 20.050]
.6;2 L .5 = [ RateOfChange at the point a =20 ] i
A=[f(r)=2nr] | I d=[f(r)=nr] |
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)’]
Ans7 = 3_[275(”"‘}1)—27”’} , , Ans8= 3 [ﬁ(l’+h)2—ﬂ:r2}
. h B h
[4=[2n],.5=[2n],.6=[2n]] [4=[2nr],.5=[4n],.6=[12n]]
o fweBE]
A= 1f(x)= 4 "]
{ ﬁ(xwﬂ a
2= f(x+h):T t
Ans9 = I3 e n? 4322 - é’@
4 4
3= M
h U
T
[.4={@},.5=[2«/§],.6:[4«/§]} S

X [Page = 0033] XXXXXXXXXXXXXXXXXXXXKXXXKXKKXXXXKKXXXKKKXKXXXKKKXKXXXKKKXXKKKXKXXKKKKKXKKK XX KKKK XX KKK XX KKKK XK KKK KX KKKKXKKKK



HD:0:0:0:0:0:0:0:0:0:0:0:0:0.0:0:0.0:0:0:0.0.0.0.0.0.0.0.0.0.0.0.000.00000.00.000.00.0:000000000000000000000000.0000000000000000000000000000000000000000000
[ >



